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QUESTION 1

The term model carries many different meanings depending on its field of application. In data mining, a model describes
and explains the relationships that exist between input data (one or more target variablest allows one to predict and
explain phenomena, or to describe them. To quote George E.P. Box, "All Models Are Wrong But Some Are Useful" from
"Robustness is the Strategy of Scientific Model Building" in Robustness in Statistics. Eds., R.L. Launer and G.N.
Wilkinson, 1979, Academic Press. A model that has satisfactory performance is one that possesses both: 

Note: There are 2 correct answers to this question. 

A. High explanatory power, that is, sufficient capacity to explain the target variable. This explanatory power is indicated
by the predictive power of the model. 

B. High robustness, that is, sufficient capacity to repeat the same performance on new datasets containing observations
of a similar nature to the training dataset. This explanatory power is indicated by the prediction confidence . 

C. Both of these ports must be accessible from the client machine. For example, network firewalls should allow
communication on these ports between client machine and the servers. 

Correct Answer: AB 

 

QUESTION 2

There are three ways to set the threshold using the displayed slide bar: Note: There are 3 correct answers to this
question. 

A. By selecting the percentage of population to target if the population is sorted by descending order of score 

B. By selecting the percentage of positive observations you want to detect 

C. By selecting the score used to differentiate positive observations from negative ones considered positive, on the
contrary any observation with a score below the threshold is considered negative. 

D. It is recommended to install the application as a Windows service on a production environment. 

Correct Answer: ABC 

 

QUESTION 3

Obtaining a better model is achieved by: 

Note: There are 3 correct answers to this question. 

A. Improving the prediction confidence of the model 

B. Improving the predictive power of the model 

C. System authentication is to be used through Pluggable Authentication Module (PAM). Access to Linux System
account password required root privileges. 

D. Improving both the predictive power and he prediction confidence of the model. 
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Correct Answer: AB 

 

QUESTION 4

Once your business issue has been identified and formulated, you need to have data on hand that will permit an answer
to be found. In order for your data to be usable by the application, the following five conditions must be met: 

Note: There are 5 correct answers to this question. 

A. You must have a sufficiently large volume of data to be able to build a valid model, that is, in order for the model to be
both relevant and robust. An analytical model that is generated from a dataset of 50 lines may have low generalization
capacity, and contain low informative value. We can advise you on the issues of data volume. 

B. Your dataset must contain a target variable, that will allow you to express your business issue within the application. 

C. The target variable must be known for each observation of the training dataset. To express this another way, no
target variable values may be missing over the range of the entire training dataset. 

D. The data source format must be supported by the application. 

E. Your data must be presented in the form of a single table of data , except in instances where you are using Event
Logging or Sequence Coding features of Data Manager. 

F. Server instances are going to be started with a different system account than the authenticated server. 

Correct Answer: ABCDE 

 

QUESTION 5

Your company is marketing two products A and B. You have a database which contains references to: Note: There are
2 correct answers to this question. 

A. 1,500 of your customers. You know which product, A or B, each customer has purchased. 

B. 10,000 prospects. You want to know which product each customer is likely to purchase. 

C. Resources are used more fully because each modeling session has a dedicated process. The process size limit
applies only to a single user. 

D. Network administration is simplified because all network traffic from the client is directed to the server. This means
only two TCP ports need to be opened for an Automated Analytics installation. 

Correct Answer: AB 

C_PAII10_35 PDF Dumps C_PAII10_35 Study Guide C_PAII10_35 Braindumps

Powered by TCPDF (www.tcpdf.org)

C_PAII10_35 PDF Dumps | C_PAII10_35 Study Guide | C_PAII10_35 Braindumps                                3 / 3

https://www.pass2lead.com/c_paii10_35.html
https://www.pass2lead.com/c_paii10_35.html
https://www.pass2lead.com/c_paii10_35.html
http://www.tcpdf.org
https://www.pass2lead.com/c_paii10_35.html
https://www.pass2lead.com/c_paii10_35.html
https://www.pass2lead.com/c_paii10_35.html

